
Exercise 2| 

ainst the odd numbers and (E) against the even numbers. 

A. 
Write (0) agains the 

36 
1 

2 
69 

240 
3 

476 
4681 5 

6 6794 
7 5763 

8 8978 

7318 
10 3571 

11 47 
12 9765 

13 689 
14 5102 

15 6380 16 7501 

B. Write all the odd numbers between the two given numbers: 
1 5013 to 5039 5013 5o15 5%/7 5019 

56 a3 5025 Sa7 S 

Sn3 583 S 35 S137 5039 

44 44 73 
44 1 

2 4471 to 4497 44 7T 4475 

A485 4427 4483 

4434 449 4443 4495 4497 

(37 



B. Write all the even numbers between the two given numbers. 

9248 
1 9244 to 9270 944 

9256 354 

4a63 9264 

5314 5216 Sa 18 2 5212 to 5248 

5224 5226 530 

933 Sa34 5236 

5244 524 Ta48 

Numbers beyond 9999 
We have already learnt that 

10 ones = 1 ten 
10 tens = 1 hundred 10 hundreds = 1 thousand We get ten thousand by 

adding 1 to 9999. 

9999+1= 10000 

What are 10 thousands equal to ? 
10 thousands = 1 Ten thousand 

We write ten thousand as 10000 
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